
Rzędne niwelety

Rzędne istniejące

Różnice rzędnych

Elementy niwelety

Elementy trasy

Odległości

Kilometraż

KM= 0+014m

Rzędna= 114.83m

R= 2000m

L= 26.25m

Z= 0.04m

KM= 0+201m

Rzędna= 114.21m

R= 1000m

L= 6.27m

Z= 0.00m

KM= 0+492m

Rzędna= 114.03m

R= 1000m

L= 6.04m

Z= 0.00m

KM= 0+632m

Rzędna= 113.99m

R= 5000m

L= 38.07m

Z= 0.04m

KM= 0+317m

Rzędna= 114.56m

R= 1000m

L= 5.98m

Z= 0.00m

KM= 0+567m

Rzędna= 114.25m

R= 5000m

L= 35.25m

Z= 0.03m

KM= 0+721m

Rzędna= 114.31m

R= 5000m

L= 66.34m

Z= 0.11m
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